EARAROBEEIERT — 2 N— IBISH —F

2013118208 (k) 17EIEMS5H

m C2=- ¥5%3mt ‘ [R#&] B ‘ (] — | & (&) 14000 FHE
[AE£] 1% :250,000 ™ ~ 2%&:45,000”  37%&:22,500 W  43%&:12,500 53 :7,500 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= N = t 3 | RHR 1:32.3 3-3-2-2 [ 39.0| — 2 465 | EREEHE (ER)
115|571 ~/N=— 54.0 (=) (-3) | HEsAEiE
Z:Nd Btz (B) #B3—-KL -3 >@AqE77
s it 3 | HHE 1:32.3 5-5-4-4 |38.9| — 1 408 | =FSTTiE (k)
2 4| FNT1 54.0 (7427) (-5 | B G1L—>>7
R:F1—T42NN7h BERy2E2X milll Es
; B 3 | KEAE 1:32.7 4-4-5-5 | 39.2| — 3 419 | FTHE (ER)
3177 T4 hLZXY 34.0 (2 1/2) (-4) NAREF]
R:FFHRFH>Td B@H/714—-> BREH#E S/ 77— L4
. AR T it 4 | BRI 1:33.1 1-1-1-1 | 40.1| — 5 473 | FFHEE (ER)
418]9 RNy BTN 54.0 (2 1/2) 1) MERE
RNy BLhTr BINLT452 TERENS
N N N R L e :33. —6-7- . — Ak (FEiR)
5 2| RAT4 T4 T > N (/gi; 6-6-7-7 | 39.2 7 ;1_173) M
L:2FA4d—I K B:IXbINTU—> (B) HAI-FL—-va>BaEI7
BEEEE :33. -9-6- . = wAME (EHA
N B e N I U R
LZLRA Y E—y B %320 pceie ]
== — s 7 | HEREX 1:33.3 2-2-3-6 |40.2| — 8 434 | WAFZ (ER)
7/8[10 7 AT =—70~ 54.0 (3/4) Lo | BAE=
ey A>JT7A—- BRINATAT A=~ B2 %Y K
SILET « k= 4 4 | THRE 1:33.5 8-8-9-9 [39.3| — 6 429 | RIBEE (EMR)
EH 6 NIVHEY bT14— 54.0 (1 1/2) 0 TR
R:bhTA=2T B:IUTYR 1— NETHIS
S 6 | WBEBER 1:33.7 7-7-8-8 | 39.8| — 9 523 | FEF (FEH)
9 1 1 NIV —=)b 54.0 (3/4) (+3) L&
R:TPNTSY BivAxIAY—Ta 7Y s
S 4 Iz PN — = — - - — | EmRE (BA
x| 7|8 | 7 vFrAO i 54.0 () (—) | KNHEST
L:xAMO— BiYILYTL R o s
® 1—F—@EBIERL
1T=7r= 9,10,5,7,4,2,1,6,3
2a=5F= 9,10,5,7,4,2,1,6,3
Ja=5= 9,5,10,4,7,3,2,1,6
43—+ — 9,5,3,4,7,10,2,1,6
[ N5
B 5 370H 714K 4-5 150M e E 4-5 440 JEE 4-5-7 460M
B B 5 1204 5-7 290M B = 4-5 340M JEE 5-4-7 3,460
4 110 4-7 170H B H 5-4 1,060
7 1309

ABICOVWTRDTEEERROODE. TR LIV,




